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Pracﬁce 8-5

Simplify each expression.

Division Properties of Exponents
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Simplify each quotient. Write each answer in scientific notation.
3.54 X 107 9.35 x 1073 495 billion 8 x 10°
33, =~ 34, = —— 35, L 36. —————
6.15 X 1073 3.71 X 1079 23.9 million 4 % 10°
9.5 x 10° 6.4 x 10° 298 billion 1.8 X 1078
37. 5 % 1012 38. 8 x 107 39. 49 million 40. 0.9 x 103
3.6 X 10° 8.19 x 107 65 million 49 x 10!?
41. 9 x 1073 42. 476 X 1072 43. 195 billion 44. 7 x 103
36.2 trillion 3.9 x 103 5.6 x 1073 40 million
45. 985 billion 46. T X108 8 % 107 48. 585 million
49. The half-life of uranium-238 is 4.5 x 10° years. The half-life of ’
uranium-234 is 2.5 X 10° years. How many times greater is the half-life
of uranium-238 than that of uranium-234.
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